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Which of the following statements is correct about a vertical 1S curve ?

{a) A vertical 1S implics that monetary policies have full effects.

(b) A vertical IS implies that fiscal policies have partial effects. . _

{(c) A vertical 1S means that consumption and invesiment demand are inlerest inelastic. | o
(d) A vertical IS means that money demand is interest inelastic. (e) Nunc‘is correct,

Which of the following statement s a criticism against stabilization policy ?

(a) The aggregate supply curve is vertical so cxpansionary demand policy has no effect in raising output. I
{b) Private shocks to the economy arc hard to identify. | .
{¢} Aclivist monetary policies are likely to be overinflationary.

{d} Economists know toa litlc empirically aboul the shape of the IS, LM and aggregate supply curve,
(¢) Allofthe above

Which of the following statements is correct about balance of payment accounting?

(a) Netexport is the export of merchandise minus the import of merchandise.

{b) Unilatera! transfer is reported in capital account.

(c) When central bank purchases foreign government bonds, i is a debit item in the capital account,

{d) When a citizen purchases an ofd paining of Van Gogh, it is reported a5 a debit iem in the carrent

account.  {e) Mone is correct .

fn a clesed economy which of the following events will decreases the equilibrium real interest rate 7

{a} The povernment increases its purchase which is financed by tax increase. .

{b) A large number of oif deposils are discovered, which increases the expected future marginal product of

oil rigs and pipelines. It also increases expected future income.

(c) Consumers becone mare optimistic about firture economy.

() The government decides ta tncrease the tax rate on corporate profits.

Which of the following transactions does not contribuie to the current year's GDP 7

{a) The government pays you the interest on the bords you hold.

{b) The government pays you lo do a commercial for keeping kids out of drugs.

(¢} You bout a used car fram a used car dealer who spent some money cleaning it up.

(d) Anautomohile manufacturer has some tires left, which were produced in this year.

{2) A Japancse [irm produces chips in your country and export them back Lo Jﬁpan.

Which of the following staterent about business cycle is correct ?

{a) Alltypes of investments are leading indicators.

(b) Durable consumptions are more procyelical them nondurable consumptions.

{c} Business cycles are recurrcnt and pericdfc.

(d) Inflation is procyclical and lelading.  {e) Al are carrect,

Which of the folivwing statements is correct about the money multiplier 7

{a} If there is bank runs, then the money multiplier will increase,
{(b) 1n Indenesia, the cutrent money multiplier is smailer than that before the Southeast Asm fnanclal storm.

{c) the money multiplicy will increase when high inflation eh:sis

(d) ‘The central bank can not ffect the value of the money multiplies.  (g) All are correct
Which of the following events will certainly cause an increase in the monetary base ?
{a) A decrease in the currency-depasit ratio.

{b} The central bank is conducting open market sales.

{¢) The central bank reduces the required reserve ratio,
{d} The central bank intervenes the foreign exchange market to prevent its own currency fofTh d¢
(€) None of the above.

Which of the following events will make GDP smaller than GNP if these two are initially

bt

" equivalent 7

: : : X, -
(a) Taiwan govermment reduces the quota for emploving foreign labors, . %? [E] ﬁ ‘:’ii
Na®

(b) IBM's manufacturing finn in Tatwan increase its productian of computers.

{c) Many Talwanese scholars who taupht at universities in the USA come back to Taiwan,

© (d} A Taiwan cempany borrews money from the Citibank's branch in Tatwan. (e} All are correct 2 N 2
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10, A tirc store purchased $100,000 of new aufumnhifc tires. At tllie ¢nd .of this year it has,.'ins'!lalled tries of
§70,000 value for customers with labor charge $10,000. Then B ' ‘
{a) The total contribution to GDP from the store fs 5:8(},000_
{b) The changes in consumption in the National incorme account is $100,000.
{c¢) The change in investment in the National income account is $30,000,
{d) The store create service value of $110,000,  (e) None is correct
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